(08/11/13) wef ASS. REC. BY: March S REF: CS////	24100535/Unp3
	ASSIGNMENT
From: Date: Estimated Cost:	Veh No: SLR 88 J Yr Regn: 01/04/2) Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP.WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or
To Inspect Vehicle No:	J Make: Mer Benz GLB 180 c.c /332
at Workshop m/s hong Auls Se	3 0 0
of	Sp.Reading 38/3 T/Radio: Insured / Std / NI / NA
Insured: GBB2063X	Eng/No:
Policy No.	C/No: WIN2476842W37879% Gen. Cond; Good / Fair / Poor / Burnt
Claims No.	
Sum Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or
Make of Veh:	Wood . Will / STRAIL / STD A/RIII of
	Tyre Size: F: 235/5±218
(Policy Condition)	R:
Remark: The veh had commenced its N/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU (PIR / SUMI /
repair at the time of inspection.	TOYO / YOKO or
Bal. or Market Value: \$220 (4.	Front Rear
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. 7 mm R/Bal. 7 mm
GIA / PR Seen: Consistent?: Yes or No	L/Bal. 9 mm L/Bal. 9 mm
Est. Repairs: days Res.: Yes or No	D.O.A. 29/10/24 D.O.I. 30/10/24
Lum Sum: % 3 Val.: Yes or No	Survey held at
CA / REV / REP. / 24 HRS	Des. of Damages: Frt / Rear / O/S / N/S / U/C / Rooftop or 10UT Rear & Rear & Rear & Shetter
Date: Person Contacted: d 1A 8 12(2	
Date / Time Action / Instruction De 21k.	
11.0/ 000 @ 2601	
8/11/24 4/5 \$ 14,600 in board	MR Jee (Red. \$18264.53, 55%)
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 5
-	Resurvey No. of Trip: Survey Fee:
1) : Final Report Date/Time, File Return to?	Transportation:
	d Fee: : Site Insp (\$)S+RS,SI

: Interview (\$

: Tech. Invs (\$

Weekend (\$

Report Format :

Lump Sum / I.B.I: (\$

) Photos

) Others

TOTAL

▶ Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	688D
Vehicle No.:	SLR8881J
Vehicle to be Exported:	No
Intended Deregistration Date:	30 Oct 2024
Vehicle Make:	MERCEDES BENZ
Vehicle Model:	GLB 180 PROGRESSIVE LINE
Primary Colour:	Black
Manufacturing Year:	2024
Engine No.:	28281480181264
Chassis No.:	W1N2476842W378794
Maximum Power Output:	96.0 kW (128 bhp)
Open Market Value:	\$40,861.00
Original Registration Date:	01 Aug 2024
First Registration Date:	01 Aug 2024
Transfer Count:	0
Actual ARF Paid:	\$49,636.00 24f1f
Intended PARF Rebate Details	
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	31 Jul 2034
PARF Rebate Amount: Intended COE Rebate Details	\$37,227.00
COE Expiry Date:	31 Jul 2034
COE Category:	A - Car-Details at OneMotoring
COE Period(Years):	10
QP Paid:	\$90,889.00
COE Rebate Amount:	\$88,641.00
Total Rebate Amount: Message	\$125,868.00

The information contained herein is correct as at 30 Oct 2024

you renew your COE.

Mercedes-Benz GLB-Class GLB180 Progressive 7-Seater

Sold N.A 19-Apr-2023
(8yrs 5mths COE left) N.A View Similar 1,332 cc 32 Owners

SOLD

Call to view now! Excellent condition, as good as buying new but with huge savings! Trade in welcomed! Flexible loan schemes available to suit your needs.

Don't commit to others before viewing this beauty! Euro Performance Asia Pte Ltd|Posted 07-Oct-2024

Compare

PREMIUM AD sacarman

Mercedes-Benz GLB-Class GLB180 Progressive

\$218.888 \$1,835 1,332 cc 31 Owner

C&C unit. Fully maintained by C&C. 1 owner only, well maintained by careful owner, \$0 downpayment! Fast loan approval with flexible financing! Low interest rate! We welcome Vicom/STA evaluation! WhatsApp/call us to book your ride now!

/mth

Posted 07-Oct-2024

Compare

Mercedes-Benz GLB-Class GLB180

Progressive

N.A → 30-Nov-2023 N.A → 1,332 cc View

Similar

SOLD

C&C unit. Fully maintained by C&C. 1 owner only, well maintained by careful owner, \$0 downpayment! Fast loan approval with flexible financing! Low interest rate! We welcome Vicom/STA evaluation! WhatsApp/call us to book vour ride now!

Posted 07-Oct-2024

Compare

Mercedes-Benz GLB-Class GLB180\$210,800 \$23,040 /yr (ayrs 2mths COE left) Progressive 7-Seater

/mth (7)18,000 km/C1,332 cc (3)1 Owner

Meticulous single owner unit! Selling due to EV preferred! Accident free! Verified battery recently replaced! Definitely zero repairs needed, full comprehensive engine/gearbox warranty available! 100% loan available at 2.48% per annum! 1 to 1 exchange without cash top up! Hurry and call our sales advisers for more information! Best price guarantee!

Paragon Motor Pte Ltd Posted 05-Oct-2024

Compare

Mercedes-Benz GLB-Class GLB180

N.A (8yrs 7mths COE left) N.A (8yrs 7mths COE left)

Progressive

Similar 51,332 cc \$1 Owner

5 years C&C warranty, 10 years engine warranty, fully maintained at agent, call our sales consultant for an appointment to view.

Wearnes Pre-Owned|Posted 04-Oct-2024

Compare

SOLD

Compare

HONG AUTO SERVICES

2 Kaki Bukit Ave 2, #01-28, Singapore 417921 Tel: 6747 6436 / Fax: 6746 8868 / HP: 9853 5155 Email: tchong4281@gmail.com 30/10/24 Sams. 2/4 = 14,600/

Vehicle number: <u>SLR8881J</u> Vehicle Made & Model: <u>MERCEDES-BENZ GLB 180</u>

Qty	<u>List Items</u>	Amount \$
1	Tailgate Body DD 4705.82	4,881.22
1	Tailgate windshield Shotfired 1211. 53	1,322.51
2	Tailgate windshield side garnishes - L/R @ 211.50 Suc	423.00 X
1	Tailgate top spoiler 🗸 🗸	1,153.21 🔀
1	Tailgate wiper arm Dany &	180.93
1	Tailgate wiper arm cover M. [55.63
1	Tailgate wiper motor Dye /Jm	591.66
2	Tailgate lamps - L/R @ 551.23 SCN (CN 4)7.14x2 - 854.28	1,102.46
2	Tailgate licence lamps @ 89.95	179.90 ×
1	Tailgate opening switch	280.63
1	Tailgate inner lock Syl	755.13
1	Tailgate inner top trim	311.26 🗡
1	Tailgate inner trim board Cun / CNe	511.62
1	Tailgate w/strip $7w_I$	322.71
2	Tailgate hinges - L/R @ 85.50 1	171.00 X
2	Tailgate dampers - L/R @ 891.10 🔥 🗸 🗸	1,782.20 ×
2	Tailgate stoppers - L/R @ 22.60	45.20 >
1	Tailgate M/B star	89.95
1	Tailgate M/B star clips @ 8.50	25.50
1	Tailgate emblem "GLB 180"	141.20 /
2	Taillamps - L/R @ 894.35 / 5 c/ 0 (5 n)	1,788.70 しょく
2	Taillamp lower brackets - L/R @ 86.60 1	173.20 🗶
1	Rear bumper - Top 7/20 -45	1,655.93
1	Rear bumper chrome plate - Top 5,	611.42
1	Rear bumper CTR pad	811.33
1	Rear bumper bottom chrome trim C/V	1,471.43
1	Rear bumper bottom cover - CTR Torn	681.62
1	Rear bumper reflector - LH Su	112.10 X
4	Rear bumper PDC sensors - LH @ 281.33 Mo/hurfor	1,125.32 2pcs
1	Rear bumper PDC sensor wire harness SU	411.20 X
1	Rear bumper reinforcement	1,055.90
2	Rear bumper lower brackets @ 110.20 MS TWI 0/SAA	ے مرا 220.40
2	Rear bumper side retainers - L/R @ 115.60	231.20 🗶
1	Rear end panel	1,015.60 X
1	Rear end panel trim	280.93 🗶
1	Rear exhaust chrome trim - LH Scyland	485.91
1	Rear exhaust insulator 1	281.60 ≪
1	Rear exhaust silencer	1,895.60 X
2	Rear fender ARC garnishes - L/R @ 399.62 Suc	799.24 X

Vehicle number: SLR8881J

Vehicle Made & Model: MERCEDES-BENZ GLB 180

1 Rea	ar foot activated sensor cne		391.23
1 Rea	ar fender inner trim - LH		661.59 🗶
		Sub-total	30,488.37
		Less 10%	3,048.84
		Total List	27,439.53
Spe	ecial Nett Items		
1 set Rea	ar windscreen sealant AM		120.00 40
1 Rea	ar windshield solar film		280.00 20,2
1 Rea	ar recorder camera		550.00 X
1 Rea	ar reverse camera Su		420.00 💢
1 set Re	ar bumper clip Au		60.00 40
	ar no. plate Sur		65.00 US
		Total Special Nett	1,495.00
Lal	oour Charges		_

Labour Charges			2
To check rear electrical wiring			50.00 %
To remove, refix tailgate windshield			180.00 / 20
To remove, refix rear interior trims to assist repair			150.00 6
To vaccuum, waxing and cleaning interior		17	180.00 📈
To diagnose, erase fault memory after reapair			350.00
To respray undercoating			120.00 3 0
To respray painting & etc			1,400.00 800
Panel beating, cut, weld, remove & replacing above parts	-		1,500.00 5572
•	Total Labour		3,930.00

ESTIMATE PARTS & LABOUR GRAND TOTAL \$

32,864.53

LKK Auto Consultants hence notify
the Repairer of the following:
To resurvey before/after spray painting
To display damaged part(s) during resurvey
Parts prices are subject to confirmation
Third party survey is on a "Without Prejudice" basis
No illegal modification(s) is allowed
Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer
Signature:
Page 2 of 2

Date:

P-18148.36
102
16333.53
1660
18313.53
1000